=LPDB
*UXSD 5R]INEDG , 710, - 7\J

3Q

7\J 7\J 7\J

7HFKQRIRJH ELRHQHUIHINFIQH | | 7HFKQRIRJLD SRILPHUyZ GU 7HFKQRIRJLH ELRHQHUIHINFTQH L RGQDZLDIQH TlyGif
RGQDZIDIQH TUyGiD HQHUJL GU | |KDE *R1V (GPXQG =DICFID | [HQHUJL GUKDE &HVIHIVNL = RIFIHFK =DICFID RQ
KDE &HVIHIVN. = RIFIHFK =DIC| [RQUQH 710, / IQH 710, .

FDRQIQH 710, / ‘ ‘ ‘

SLCWHN

7N 7N 7N 7N 7N
3RGVIDZ\ IHFKQRIRJLL ZHFKQRIRIH 7HFKQRIRJID SRLPHUYZ G ODIHUDA\ FHIDPIF]QH L 3RGVIDZ\ IHFKQRIRJIL Z\IZDU]DQID GU 1QT
Z\IZDUJDQD GUIQT EIRHQHIJHINF]QH L UKDE *RIV (GPXQG =DI VINR SIRI QDG]Z ~HPEIF]DN 7RPDV] =DIGFID RQ (LOH
~HPEIF]DN 7RPDV] =DIC RGQDZIDIQH TUyGiD CFDRQIQH ~ ,710, UUSHFN. -DFHN =DICFLD 710, =U
FDRQUQH ,710, HQHUJLL GU KDE &IHVLHIVNL - ROUQH 710, =
- =RIFIHFK =DICFLD RQ 1QH
710, =
7\6] 7\6] 7\6]
7] B ZHFKQRIRJL ODIHUDA | |ODIHUDA
- 3RGVIDZ\ 1 D FHIDPIFIQH| |[FHUIDPLF]QH
£ IHFKQRIRJLL 7HFKQRIRJL SRUPHIyZ LVINR SIRI| [LVINR SRI
2 Z\IZDUJDQ. H GU KDE QbG]Z QbG]Z
= D GULQT ELRHQHUJHI *RIY JUSHFN. | |DULSHFNL
N ~HPELF]DN \F]QH L (GPXQG = “DFHN =DI | |“DFHN =D
7RPDV] = RGQDZIDIQH DICFLD RQ CFID RQ CFID RQ
DICFLD RQ TUyGiD IQH IQH IQH
IQH HQHUJLL Gy 710, 710, 710,
710, KDE - - 7
- &IHVIHVNL
= RIFHFK 7N
=DICFLD RQ
“Lg; o ODIHULDA FHIDPLF]QH L
710, VINR SIRI QDG]Z
: UUSHFN. ~DFHN =DICFLD
| ROUQH 710, 7
o 7N 7N
o %RNIC]\WRZ\ =DICFDRQIQH 710, & SURIHNIRZDQIH ZVSRPDIDQH
x NRPSXIHIRZR %DUDVIEVN.
2 $GUDQ =DICFLD RQ 1QH
710, =
- 7N
o3 3URIHNIRZDQIH ZVSRPDIDQH NRPSXIHIRZR %DUDVLEVN. $GUDQ =DIGFID RQ (LOH
710, /
7] 7] 7N
7HFKQRIRJLH ELRHQHUIHINF]QH L RGQDZLDIQH 7HFKQRIRJID SRIPHUYZ G 3URIHMIRZDQH ZVSRPDJIDQH NRPSXIHIRZR %DUDVLEVN. $GUDQ =DIGFID RQ (1QH
TUyGiD HQHUJL GU KDE &HVIHIVNL = RIFHFK $ UKDE *RIV (GPXQG =DI 710,
710, / CFDRQUQH 710,
/ 7N
3RGVIDZ\ IHFKQRIRJL Z\IZDUJDQID GULQT =HPELF]DN 7RPDV] =DICFLD RQ
7\G] IQH 710, =U
ZHFKQRIRIH

ELRHQHUJHINF]QH L

RGQDZIDIQH TUyGiD

HQHUJLL GU KDE &IHVIHVNL

= RIFIHFK =DICFID RQ QH
710, /

7\6]

7HFKQRIRJID SRLPHUYZ GU KDE *RIV
(GPXQG =DICFDRQUQH  ,710, /




*UXSD 5R]INEDG

=LPDB
, 710,

7\J

6R




